Answers to OAD 2001
1. Sulfur dioxide gas is bubbled into distilled water.  

Reaction type: nonmetal oxide + water ( acid (with no change in oxidation state).  This is also classified as synthesis.

Answer: SO2 + H2O ( H2SO3
2. A drop of potassium thiocyanate solution is added to a solution of iron(II) nitrate..

Reaction type: complex ion formation
Note: Thiocyanate is a common ligand for complex ion formation and iron is a common transition metal for the ligand to attach to.  
Answer: SCN- + Fe2+ ( [Fe(SCN)4]2-
3. A piece of copper wire is placed in a solution of silver nitrate.

Reaction type: two transition metals ( redox
Answer: Cu + Ag+ ( Cu2+ + Ag
Note: The most common form of copper ion is Cu2+ so assume Cu2+ instead of Cu+.
4. Solutions of potassium hydroxide and propanoic acid are mixed..

Reaction type: acid/base (organic type)
Note: I highly doubt this kind of a reaction will be on the new AP test, because you aren’t expected to know how to come up for formulas of organic molecules (except alcohols).  Propanoic acid contains 3 carbons (prop-) and a carboxylic acid functional group.  Therefore, the formula for propanoic acid is (draw out the structure so that the formula makes sense): C3H6O2.  Also note that the hydrogen that gets donated from the propanoic acid is the hydrogen attached to the O=C-O.  If this doesn’t make sense, stop by in person so I can draw you a picture.  (This is difficult to explain in words.)
Answer: OH- + C3H6O2 ( HOH + C3H5O2-
5. A solution of iron(II) chloride is added to an acidified solution of sodium dichromate.

Reaction type: redox
Note: Key words highlighted above indicate redox.

Answer: Fe2+ + H+ + Cr2O72- (  Cr3+ + H2O + Fe3+
6. Chlorine gas is bubbled through a solution of potassium bromide.

Reaction type: Two halogens ( redox
Note: Write this type down on the back of your notebook with your other reaction types.  Even though this is redox, it helps to identify it this way.  

Answer: Cl2 + Br- ( Br2 + Cl-
7. Solutions of strontium nitrate and sodium sulfate are mixed.

Reaction type: double replacement
Answer: Sr2+ + SO42- ( SrSO4
8. Powdered magnesium carbonate is heated strongly.

Reaction type: metal carbonate ( metal oxide + CO2
Answer: MgCO3 ( MgO + CO2
